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MUSTER ZUORDNEN

1. Antwort B

(E)

I\

v, - i v g@?
() SYA G4 g
1 )

)
r’ﬂ@';

NN A

Ml
N 7 ; %

1/5




4. Antwort C

(E)

(D)

(©)

(B)

(A)

5. Antwort B

E)

(

)

D

(

(©)

(B)

(A)

6. Antwort C

(E)

D)

7. Antwort A

(E)

(D)

(©)

(B)

(A)

2/5

, M/Le&ﬂ‘}@wo

e
V¢



10.

1.

. Antwort D

VA
0 \\:‘K&%—?&:’

Antwort B

3/5



12. Antwort A

(A)

HA ALY
CIHA

13. Antwort E

14. Antwort B

15. Antwort C

(A) (B) (©) (D) (E)

G T



16. Antwort D

D

&
Al
NE

(11}

Er 2 1
T i

[ ITITIT]

]

__._,
Ill'lll'n.ol.:
TS

5/5




